

Informazione Regolamentata n. 20250-52-2025

Data/Ora Inizio Diffusione 28 Luglio 2025 18:00:01

Euronext Milan

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

208441

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : 2.4

Data/Ora Ricezione : 28 Luglio 2025 18:00:01

Data/Ora Inizio Diffusione : 28 Luglio 2025 18:00:01

Oggetto : WEEKLY PRESS RELEASE ON TREASURY

SHARES BUYBACK PLAN

Testo del comunicato

Vedi allegato









PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). July 28, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from July 23, 2025 to July 25 2025, of n. 255,000 ordinary shares (equal to 0.03903% of the share capital) at the weighted average price of Euro 7.36396 for a total value of EUR 1,877,809.80.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
23/07/2025	85,000	7.41685	630,432.25
24/07/2025	85,000	7.36424	625,960.40
25/07/2025	85,000	7.31079	621,417.15

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at July 25, 2025 the Company owns no. 5.997.451 ordinary shares (equal to 0,91807% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).

Contact

Technoprobe S.p.A. Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996, Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a









crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZHGI3Z	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.435	287	2133.845
1ZAZHGI40	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.435	73	542.755
1ZAZHGI41	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.44	736	5475.84
1ZAZHGI42	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.44	1,144	8511.36
1ZAZHGI43	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.445	200	1489
1ZAZHGI44	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.445	693	5159.385
1ZAZHGI45	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.445	951	7080.195
1ZAZHGI46	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.445	895	6663.275
1ZAZHGI47	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.445	119	885.955
1ZAZHGI48	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.45	3,200	23840
1ZAZHGI49	23/07/2025	09:18:01	Buy	IT.ico	MTA	TPRO	7.45	1,702	12679.9
1ZAZHGI4Y	23/07/2025	09:18:32	Buy	IT.ico	MTA	TPRO	7.45	1,165	8679.25
1ZAZHGI4Z	23/07/2025	09:18:32	Buy	IT.ico	MTA	TPRO	7.45	1,500	11175
1ZAZHGI50	23/07/2025	09:18:32	Buy	IT.ico	MTA	TPRO	7.45	1,800	13410
1ZAZHGI51	23/07/2025	09:18:32	Buy	IT.ico	MTA	TPRO	7.45	1,535	11435.75
1ZAZHGIDA	23/07/2025	09:23:15	Buy	IT.ico	MTA	TPRO	7.42	2,339	17355.38
1ZAZHGIDQ	23/07/2025	09:23:43	Buy	IT.ico	MTA	TPRO	7.42	1,558	11560.36
1ZAZHGIGX	23/07/2025	09:25:09	Buy	IT.ico	MTA	TPRO	7.42	103	764.26
1ZAZHGMC4	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.415	5	37.075
1ZAZHGMC5	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.42	83	615.86
1ZAZHGMC6	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.42	511	3791.62
1ZAZHGMC7	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.42	4,000	29680
1ZAZHGMC8	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.425	200	1485
1ZAZHGMC9	23/07/2025	11:08:30	Buy	IT.ico	MTA	TPRO	7.425	201	1492.425
1ZAZHGMCH	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.415	150	1112.25
1ZAZHGMCI	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.415	133	986.195
1ZAZHGMCJ	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.42	507	3761.94
1ZAZHGMCK	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.425	288	2138.4
1ZAZHGMCL	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.425	471	3497.175
1ZAZHGMCM	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.425	875	6496.875
1ZAZHGMCN	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.425	1,024	7603.2
1ZAZHGMCO	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.43	715	5312.45
1ZAZHGMCP	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.43	653	4851.79
1ZAZHGMCQ	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.43	2,674	19867.82
1ZAZHGMCR	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.43	790	5869.7
1ZAZHGMCS	23/07/2025	11:08:44	Buy	IT.ico	MTA	TPRO	7.43	1,720	12779.6
1ZAZHGMD6	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.42	139	1031.38









TAZHIGMD	47471101107	00/07/0005	44.00.50	-	. 		TDDO	7.40	70	500.00
12AZHGMD9	1ZAZHGMD7	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.42	76	563.92
Tazherind Tazh		23/07/2025	11:08:53	Buy				7.425	200	1485
1ZAZHGMDB 23/07/2025	1ZAZHGMD9	23/07/2025	11:08:53	Buy		MTA	TPRO	7.425	432	3207.6
Tazahgmbo	1ZAZHGMDA	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.43	1,405	10439.15
12AZHGMDD	1ZAZHGMDB	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.43	1,000	7430
12AZHGMDU 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.41 139 1029.99 12AZHGMDV 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.415 200 1483 12AZHGMDW 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.415 100 741.5 12AZHGMDW 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.415 141 1045.515 12AZHGMDV 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.42 58 430.36 12AZHGMDV 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.42 455 3376.1 12AZHGMDZ 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.42 455 3376.1 12AZHGME0 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 481 3571.425 12AZHGME1 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 481 3571.425 12AZHGME2 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 956 7098.3 12AZHGME3 23/07/2025 11:09:32 Buy IT.ico MTA TPRO 7.425 270 2004.75 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 270 2004.75 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 875 6492.5 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 4863.4 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 4363.4 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGME3 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGME3 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGME3 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGME3 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 1.000 7420 12AZHGMA3 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.425 1.000 7420 12AZHGMA3 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.425 1.000 7450 12AZHGMA3 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.425 1.000 7450 12AZHGMA3 23/07/2025 14:35:48	1ZAZHGMDC	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.43	1,326	9852.18
Tazahgmbw 23/07/2025	1ZAZHGMDD	23/07/2025	11:08:53	Buy	IT.ico	MTA	TPRO	7.43	422	3135.46
Tazahgmbw 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.415 100 741.5	1ZAZHGMDU	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.41	139	1029.99
Tazathgmdx	1ZAZHGMDV	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.415	200	1483
Tazathomby 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.42 58 430.36 12AZHGMDZ 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.42 455 3376.1 12AZHGME0 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 200 1485 12AZHGME1 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 481 3571.425 12AZHGME2 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 956 7098.3 12AZHGME3 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 956 7098.3 12AZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 270 2004.75 12AZHGME9 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.421 132 978.12 12AZHGME4 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 12AZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 12AZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 12AZHGMED 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.425 705 5234.625 12AZHGPDR 23/07/2025 12:66:17 Buy IT.ico MTA TPRO 7.425 1,000 7420 12AZHGRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 12AZHGGM2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.455 1,000 7450 12AZHGGM2 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.45 1,000 7450 12AZHGGM2 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.45 1,000 7420 12AZHGGM2 23/07/2025 14:15:54 Buy IT.ico MTA	1ZAZHGMDW	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.415	100	741.5
Tazathgmed Taz	1ZAZHGMDX	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.415	141	1045.515
TAZAHGME0	1ZAZHGMDY	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.42	58	430.36
TZAZHGME1 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 481 3571.425 TZAZHGME2 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 956 7098.3 TZAZHGME3 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 270 2004.75 TZAZHGMEA 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.41 132 978.12 TZAZHGMEA 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 875 6492.5 TZAZHGMEB 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 875 6492.5 TZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 80 653.4 TZAZHGMED 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 360.4 TZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA	1ZAZHGMDZ	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.42	455	3376.1
TZAZHGME2	1ZAZHGME0	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.425	200	1485
TZAZHGME3 23/07/2025 11:09:22 Buy IT.ico MTA TPRO 7.425 270 2004.75 TZAZHGME9 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.41 132 978.12 TZAZHGMEA 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 TZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 TZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 TZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 TZAZHGMED 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 TZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.42 1,000 7420 <t< th=""><th>1ZAZHGME1</th><th>23/07/2025</th><th>11:09:22</th><th>Buy</th><th>IT.ico</th><th>MTA</th><th>TPRO</th><th>7.425</th><th>481</th><th>3571.425</th></t<>	1ZAZHGME1	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.425	481	3571.425
TZAZHGME9 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.41 132 978.12 TZAZHGMEA 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 875 6492.5 TZAZHGMEB 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 TZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 TZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 TZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 TZAZHGPDS 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.41 440 3260.4 TZAZHGPAR 23/07/2025 13:36:50 Buy IT.ico MTA TPRO 7.45 1,000 7450	1ZAZHGME2	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.425	956	7098.3
TZAZHGMEA 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.42 875 6492.5 TZAZHGMEB 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 TZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 TZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 TZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 460 3260.4 TZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 TZAZHGPDS 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 TZAZHGPRA 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450	1ZAZHGME3	23/07/2025	11:09:22	Buy	IT.ico	MTA	TPRO	7.425	270	2004.75
1ZAZHGMEB 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 1ZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 1ZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 560 4149.6 1ZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 1ZAZHGPDJ 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGPA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQRQ 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450	1ZAZHGME9	23/07/2025	11:09:38	Buy	IT.ico	MTA	TPRO	7.41	132	978.12
1ZAZHGMEC 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 88 653.4 1ZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 1ZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 560 4149.6 1ZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 1ZAZHGPJ7 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRPA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGQRQ 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450	1ZAZHGMEA	23/07/2025	11:09:38	Buy	IT.ico	MTA	TPRO	7.42	875	6492.5
1ZAZHGMED 23/07/2025 11:09:38 Buy IT.ico MTA TPRO 7.425 705 5234.625 1ZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 560 4149.6 1ZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 1ZAZHGPJ7 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGPRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGQRQ 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQRD 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450	1ZAZHGMEB	23/07/2025	11:09:38	Buy	IT.ico	MTA	TPRO	7.425	200	1485
1ZAZHGPDR 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 560 4149.6 1ZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 1ZAZHGPJ7 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGPRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.42 1,000 7425 1ZAZHGQRQ 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQRA 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7420	1ZAZHGMEC	23/07/2025	11:09:38	Buy	IT.ico	MTA	TPRO	7.425	88	653.4
1ZAZHGPDS 23/07/2025 12:46:37 Buy IT.ico MTA TPRO 7.41 440 3260.4 1ZAZHGPJ7 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGPRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGQRQ 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQH2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGRQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.44 1,000 7420	1ZAZHGMED	23/07/2025	11:09:38	Buy	IT.ico	MTA	TPRO	7.425	705	5234.625
1ZAZHGPJ7 23/07/2025 12:56:17 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGPRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGQ8Q 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQH2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGPDR	23/07/2025	12:46:37	Buy	IT.ico	MTA	TPRO	7.41	560	4149.6
1ZAZHGPRA 23/07/2025 13:06:50 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGQRQ 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQH2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR66 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02	1ZAZHGPDS	23/07/2025	12:46:37	Buy	IT.ico	MTA	TPRO	7.41	440	3260.4
1ZAZHGQ8Q 23/07/2025 13:23:22 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQH2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.43 800 5944	1ZAZHGPJ7	23/07/2025	12:56:17	Buy	IT.ico	MTA	TPRO	7.42	1,000	7420
1ZAZHGQH2 23/07/2025 13:35:04 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRMA 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.42 1,000 7420 <th>1ZAZHGPRA</th> <th>23/07/2025</th> <th>13:06:50</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.425</th> <th>1,000</th> <th>7425</th>	1ZAZHGPRA	23/07/2025	13:06:50	Buy	IT.ico	MTA	TPRO	7.425	1,000	7425
1ZAZHGQT5 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.43 800 5944 <th>1ZAZHGQ8Q</th> <th>23/07/2025</th> <th>13:23:22</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.45</th> <th>1,000</th> <th>7450</th>	1ZAZHGQ8Q	23/07/2025	13:23:22	Buy	IT.ico	MTA	TPRO	7.45	1,000	7450
1ZAZHGQT6 23/07/2025 13:59:51 Buy IT.ico MTA TPRO 7.45 1,000 7450 1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420 <th>1ZAZHGQH2</th> <th>23/07/2025</th> <th>13:35:04</th> <th>Buy</th> <th>IT.ico</th> <th>MTA</th> <th>TPRO</th> <th>7.45</th> <th>1,000</th> <th>7450</th>	1ZAZHGQH2	23/07/2025	13:35:04	Buy	IT.ico	MTA	TPRO	7.45	1,000	7450
1ZAZHGQZ3 23/07/2025 14:06:14 Buy IT.ico MTA TPRO 7.425 1,000 7425 1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGQT5	23/07/2025	13:59:51	Buy	IT.ico	MTA	TPRO	7.45	1,000	7450
1ZAZHGR46 23/07/2025 14:15:54 Buy IT.ico MTA TPRO 7.44 1,000 7440 1ZAZHGR5R 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGQT6	23/07/2025	13:59:51	Buy	IT.ico	MTA	TPRO	7.45	1,000	7450
1ZAZHGR5R 23/07/2025 14:20:48 Buy IT.ico MTA TPRO 7.42 1,000 7420 1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGQZ3	23/07/2025	14:06:14	Buy	IT.ico	MTA	TPRO	7.425	1,000	7425
1ZAZHGRBV 23/07/2025 14:33:26 Buy IT.ico MTA TPRO 7.43 214 1590.02 1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRF1 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGR46	23/07/2025	14:15:54	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHGRF0 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.425 200 1485 1ZAZHGRF1 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGR5R	23/07/2025	14:20:48	Buy	IT.ico	MTA	TPRO	7.42	1,000	7420
1ZAZHGRF1 23/07/2025 14:35:13 Buy IT.ico MTA TPRO 7.43 800 5944 1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGRBV	23/07/2025	14:33:26	Buy	IT.ico	MTA	TPRO	7.43	214	1590.02
1ZAZHGRMA 23/07/2025 14:42:13 Buy IT.ico MTA TPRO 7.42 1,000 7420	1ZAZHGRF0	23/07/2025	14:35:13	Buy	IT.ico	MTA	TPRO	7.425	200	1485
	1ZAZHGRF1	23/07/2025	14:35:13	Buy	IT.ico	MTA	TPRO	7.43	800	5944
1ZAZHGRSF 23/07/2025 14:51:07 Buy IT.ico MTA TPRO 7.44 259 1926.96	1ZAZHGRMA	23/07/2025	14:42:13	Buy	IT.ico	MTA	TPRO	7.42	1,000	7420
	1ZAZHGRSF	23/07/2025	14:51:07	Buy	IT.ico	MTA	TPRO	7.44	259	1926.96









1ZAZHGRSN	23/07/2025	14:51:26	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHGS2M	23/07/2025	15:00:29	Buy	IT.ico	MTA	TPRO	7.43	800	5944
1ZAZHGS2N	23/07/2025	15:00:29	Buy	IT.ico	MTA	TPRO	7.43	200	1486
1ZAZHGT17	23/07/2025	15:10:09	Buy	IT.ico	MTA	TPRO	7.425	1,000	7425
1ZAZHGTJ2	23/07/2025	15:14:30	Buy	IT.ico	MTA	TPRO	7.425	800	5940
1ZAZHGTJ3	23/07/2025	15:14:30	Buy	IT.ico	MTA	TPRO	7.425	200	1485
1ZAZHGTW6	23/07/2025	15:19:01	Buy	IT.ico	MTA	TPRO	7.41	1,000	7410
1ZAZHGUJ3	23/07/2025	15:28:35	Buy	IT.ico	MTA	TPRO	7.44	811	6033.84
1ZAZHGUS1	23/07/2025	15:32:21	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHGV1Q	23/07/2025	15:37:04	Buy	IT.ico	MTA	TPRO	7.44	732	5446.08
1ZAZHGV1R	23/07/2025	15:37:04	Buy	IT.ico	MTA	TPRO	7.44	268	1993.92
1ZAZHGVC2	23/07/2025	15:43:06	Buy	IT.ico	MTA	TPRO	7.415	383	2839.945
1ZAZHGVC3	23/07/2025	15:43:06	Buy	IT.ico	MTA	TPRO	7.415	348	2580.42
1ZAZHGVKF	23/07/2025	15:49:38	Buy	IT.ico	MTA	TPRO	7.405	1,000	7405
1ZAZHGVRY	23/07/2025	15:53:03	Buy	IT.ico	MTA	TPRO	7.4	1,000	7400
1ZAZHGW0K	23/07/2025	15:59:35	Buy	IT.ico	MTA	TPRO	7.41	18	133.38
1ZAZHGW1A	23/07/2025	15:59:50	Buy	IT.ico	MTA	TPRO	7.405	200	1481
1ZAZHGW3M	23/07/2025	16:01:16	Buy	IT.ico	MTA	TPRO	7.405	200	1481
1ZAZHGW5Z	23/07/2025	16:02:17	Buy	IT.ico	MTA	TPRO	7.405	169	1251.445
1ZAZHGW60	23/07/2025	16:02:17	Buy	IT.ico	MTA	TPRO	7.405	209	1547.645
1ZAZHGW7R	23/07/2025	16:03:26	Buy	IT.ico	MTA	TPRO	7.4	772	5712.8
1ZAZHGWE7	23/07/2025	16:07:02	Buy	IT.ico	MTA	TPRO	7.395	522	3860.19
1ZAZHGWE8	23/07/2025	16:07:02	Buy	IT.ico	MTA	TPRO	7.395	478	3534.81
1ZAZHGWM7	23/07/2025	16:12:10	Buy	IT.ico	MTA	TPRO	7.37	751	5534.87
1ZAZHGWM8	23/07/2025	16:12:10	Buy	IT.ico	MTA	TPRO	7.37	249	1835.13
1ZAZHGX0J	23/07/2025	16:17:40	Buy	IT.ico	MTA	TPRO	7.36	58	426.88
1ZAZHGX0K	23/07/2025	16:17:40	Buy	IT.ico	MTA	TPRO	7.36	430	3164.8
1ZAZHGX0L	23/07/2025	16:17:40	Buy	IT.ico	MTA	TPRO	7.36	512	3768.32
1ZAZHGX5Q	23/07/2025	16:22:26	Buy	IT.ico	MTA	TPRO	7.35	31	227.85
1ZAZHGX5R	23/07/2025	16:22:26	Buy	IT.ico	MTA	TPRO	7.35	969	7122.15
1ZAZHGXH4	23/07/2025	16:27:05	Buy	IT.ico	MTA	TPRO	7.36	47	345.92
1ZAZHGXH5	23/07/2025	16:27:05	Buy	IT.ico	MTA	TPRO	7.36	953	7014.08
1ZAZHGXM6	23/07/2025	16:31:26	Buy	IT.ico	MTA	TPRO	7.355	409	3008.195
1ZAZHGXO7	23/07/2025	16:33:45	Buy	IT.ico	MTA	TPRO	7.355	1,000	7355
1ZAZHGXTA	23/07/2025	16:38:10	Buy	IT.ico	MTA	TPRO	7.345	155	1138.475
1ZAZHGXTB	23/07/2025	16:38:10	Buy	IT.ico	MTA	TPRO	7.345	344	2526.68
1ZAZHGXTO	23/07/2025	16:38:42	Buy	IT.ico	MTA	TPRO	7.345	222	1630.59
1ZAZHGXTP	23/07/2025	16:38:42	Buy	IT.ico	MTA	TPRO	7.345	778	5714.41









1ZAZHGY0O	23/07/2025	16:45:02	Buy	IT.ico	MTA	TPRO	7.36	12	88.32
1ZAZHGY0P	23/07/2025	16:45:02	Buy	IT.ico	MTA	TPRO	7.36	988	7271.68
1ZAZHGY68	23/07/2025	16:49:39	Buy	IT.ico	MTA	TPRO	7.365	226	1664.49
1ZAZHGY6A	23/07/2025	16:49:47	Buy	IT.ico	MTA	TPRO	7.36	181	1332.16
1ZAZHGY6Y	23/07/2025	16:50:26	Buy	IT.ico	MTA	TPRO	7.36	1,000	7360
1ZAZHGYGH	23/07/2025	16:57:37	Buy	IT.ico	MTA	TPRO	7.355	200	1471
1ZAZHGYGL	23/07/2025	16:57:45	Buy	IT.ico	MTA	TPRO	7.355	183	1345.965
1ZAZHGYI1	23/07/2025	16:59:11	Buy	IT.ico	MTA	TPRO	7.355	148	1088.54
1ZAZHGYI3	23/07/2025	16:59:20	Buy	IT.ico	MTA	TPRO	7.355	150	1103.25
1ZAZHGYI4	23/07/2025	16:59:20	Buy	IT.ico	MTA	TPRO	7.35	121	889.35
1ZAZHGYI5	23/07/2025	16:59:20	Buy	IT.ico	MTA	TPRO	7.35	879	6460.65
1ZAZHGYP5	23/07/2025	17:02:03	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHGYWC	23/07/2025	17:08:37	Buy	IT.ico	MTA	TPRO	7.33	400	2932
1ZAZHGZ24	23/07/2025	17:11:13	Buy	IT.ico	MTA	TPRO	7.335	1,000	7335
1ZAZHGZ7G	23/07/2025	17:14:10	Buy	IT.ico	MTA	TPRO	7.33	173	1268.09
1ZAZHGZ7H	23/07/2025	17:14:10	Buy	IT.ico	MTA	TPRO	7.33	827	6061.91
1ZAZHGZRV	23/07/2025	17:25:24	Buy	IT.ico	MTA	TPRO	7.325	4	29.3
1ZAZHGZRW	23/07/2025	17:25:24	Buy	IT.ico	MTA	TPRO	7.325	17	124.525
1ZAZHH4GK	24/07/2025	09:30:58	Buy	IT.ico	MTA	TPRO	7.4	1,000	7400
1ZAZHH4GR	24/07/2025	09:31:11	Buy	IT.ico	MTA	TPRO	7.39	608	4493.12
1ZAZHH4GS	24/07/2025	09:31:11	Buy	IT.ico	MTA	TPRO	7.39	392	2896.88
1ZAZHH4HR	24/07/2025	09:31:51	Buy	IT.ico	MTA	TPRO	7.375	1,000	7375
1ZAZHH4T8	24/07/2025	09:38:27	Buy	IT.ico	MTA	TPRO	7.38	1,000	7380
1ZAZHH4YE	24/07/2025	09:40:58	Buy	IT.ico	MTA	TPRO	7.36	1,000	7360
1ZAZHH554	24/07/2025	09:47:00	Buy	IT.ico	MTA	TPRO	7.365	1,000	7365
1ZAZHH58G	24/07/2025	09:48:58	Buy	IT.ico	MTA	TPRO	7.375	83	612.125
1ZAZHH5BM	24/07/2025	09:51:47	Buy	IT.ico	MTA	TPRO	7.385	1,000	7385
1ZAZHH5H2	24/07/2025	09:54:55	Buy	IT.ico	MTA	TPRO	7.395	1,000	7395
1ZAZHH5KJ	24/07/2025	09:57:48	Buy	IT.ico	MTA	TPRO	7.41	4	29.64
1ZAZHH5MD	24/07/2025	09:58:57	Buy	IT.ico	MTA	TPRO	7.43	1,000	7430
1ZAZHH5SD	24/07/2025	10:03:28	Buy	IT.ico	MTA	TPRO	7.43	1,000	7430
1ZAZHH643	24/07/2025	10:09:00	Buy	IT.ico	MTA	TPRO	7.465	1,000	7465
1ZAZHH644	24/07/2025	10:09:00	Buy	IT.ico	MTA	TPRO	7.465	1,000	7465
1ZAZHH68J	24/07/2025	10:13:55	Buy	IT.ico	MTA	TPRO	7.465	300	2239.5
1ZAZHH6BF	24/07/2025	10:16:09	Buy	IT.ico	MTA	TPRO	7.465	1,000	7465
1ZAZHH6I4	24/07/2025	10:20:44	Buy	IT.ico	MTA	TPRO	7.44	177	1316.88
1ZAZHH6MP	24/07/2025	10:23:51	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHH6OS	24/07/2025	10:24:58	Buy	IT.ico	MTA	TPRO	7.445	1,000	7445









1ZAZHH726	24/07/2025	10:32:31	Buy	IT.ico	MTA	TPRO	7.445	500	3722.5
1ZAZHH738	24/07/2025	10:32:57	Buy	IT.ico	MTA	TPRO	7.45	191	1422.95
1ZAZHH75X	24/07/2025	10:34:10	Buy	IT.ico	MTA	TPRO	7.45	343	2555.35
1ZAZHH78F	24/07/2025	10:36:58	Buy	IT.ico	MTA	TPRO	7.45	1,000	7450
1ZAZHH7DB	24/07/2025	10:40:26	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHH7H7	24/07/2025	10:44:12	Buy	IT.ico	MTA	TPRO	7.425	1,000	7425
1ZAZHH7QE	24/07/2025	10:52:39	Buy	IT.ico	MTA	TPRO	7.44	1,000	7440
1ZAZHH7TZ	24/07/2025	10:56:58	Buy	IT.ico	MTA	TPRO	7.44	265	1971.6
1ZAZHH7U0	24/07/2025	10:56:58	Buy	IT.ico	MTA	TPRO	7.44	735	5468.4
1ZAZHH81K	24/07/2025	11:03:05	Buy	IT.ico	MTA	TPRO	7.435	687	5107.845
1ZAZHH82C	24/07/2025	11:05:29	Buy	IT.ico	MTA	TPRO	7.43	1,000	7430
1ZAZHH88Z	24/07/2025	11:12:52	Buy	IT.ico	MTA	TPRO	7.405	642	4754.01
1ZAZHH890	24/07/2025	11:12:52	Buy	IT.ico	MTA	TPRO	7.405	358	2650.99
1ZAZHH8FI	24/07/2025	11:21:02	Buy	IT.ico	MTA	TPRO	7.405	1,000	7405
1ZAZHH8M9	24/07/2025	11:25:48	Buy	IT.ico	MTA	TPRO	7.41	1,000	7410
1ZAZHH8QH	24/07/2025	11:29:29	Buy	IT.ico	MTA	TPRO	7.39	526	3887.14
1ZAZHH8WW	24/07/2025	11:35:54	Buy	IT.ico	MTA	TPRO	7.43	1,000	7430
1ZAZHH8YR	24/07/2025	11:39:31	Buy	IT.ico	MTA	TPRO	7.395	590	4363.05
1ZAZHH91M	24/07/2025	11:43:35	Buy	IT.ico	MTA	TPRO	7.395	1,000	7395
1ZAZHH9BB	24/07/2025	11:56:21	Buy	IT.ico	MTA	TPRO	7.395	218	1612.11
1ZAZHH9BD	24/07/2025	11:56:58	Buy	IT.ico	MTA	TPRO	7.395	288	2129.76
1ZAZHH9BE	24/07/2025	11:56:58	Buy	IT.ico	MTA	TPRO	7.395	29	214.455
1ZAZHH9BF	24/07/2025	11:56:58	Buy	IT.ico	MTA	TPRO	7.395	198	1464.21
1ZAZHH9FS	24/07/2025	12:02:02	Buy	IT.ico	MTA	TPRO	7.395	1,000	7395
1ZAZHH9LH	24/07/2025	12:05:44	Buy	IT.ico	MTA	TPRO	7.395	23	170.085
1ZAZHH9LI	24/07/2025	12:05:44	Buy	IT.ico	MTA	TPRO	7.395	977	7224.915
1ZAZHH9VW	24/07/2025	12:17:35	Buy	IT.ico	MTA	TPRO	7.385	100	738.5
1ZAZHH9VY	24/07/2025	12:17:35	Buy	IT.ico	MTA	TPRO	7.385	900	6646.5
1ZAZHHA3L	24/07/2025	12:28:33	Buy	IT.ico	MTA	TPRO	7.41	1,000	7410
1ZAZHHA3Y	24/07/2025	12:28:58	Buy	IT.ico	MTA	TPRO	7.41	1,000	7410
1ZAZHHAF4	24/07/2025	12:38:53	Buy	IT.ico	MTA	TPRO	7.4	1,000	7400
1ZAZHHAMK	24/07/2025	12:50:45	Buy	IT.ico	MTA	TPRO	7.385	37	273.245
1ZAZHHAML	24/07/2025	12:50:45	Buy	IT.ico	MTA	TPRO	7.385	963	7111.755
1ZAZHHARL	24/07/2025	12:58:49	Buy	IT.ico	MTA	TPRO	7.345	864	6346.08
1ZAZHHARM	24/07/2025	12:58:49	Buy	IT.ico	MTA	TPRO	7.345	100	734.5
1ZAZHHAYB	24/07/2025	13:09:12	Buy	IT.ico	MTA	TPRO	7.34	131	961.54
1ZAZHHB3N	24/07/2025	13:18:37	Buy	IT.ico	MTA	TPRO	7.36	171	1258.56
1ZAZHHB3O	24/07/2025	13:18:37	Buy	IT.ico	MTA	TPRO	7.36	323	2377.28









1ZAZHHB64	24/07/2025	13:25:08	Buy	IT.ico	MTA	TPRO	7.365	200	1473
1ZAZHHB65	24/07/2025	13:25:08	Buy	IT.ico	MTA	TPRO	7.365	800	5892
1ZAZHHB8M	24/07/2025	13:30:48	Buy	IT.ico	MTA	TPRO	7.355	1,000	7355
1ZAZHHBFY	24/07/2025	13:43:28	Buy	IT.ico	MTA	TPRO	7.335	244	1789.74
1ZAZHHBFZ	24/07/2025	13:43:28	Buy	IT.ico	MTA	TPRO	7.335	287	2105.145
1ZAZHHBG0	24/07/2025	13:43:28	Buy	IT.ico	MTA	TPRO	7.335	469	3440.115
1ZAZHHBHA	24/07/2025	13:45:11	Buy	IT.ico	MTA	TPRO	7.33	1,000	7330
1ZAZHHBTR	24/07/2025	13:56:33	Buy	IT.ico	MTA	TPRO	7.335	1,000	7335
1ZAZHHBY9	24/07/2025	14:03:23	Buy	IT.ico	MTA	TPRO	7.315	999	7307.685
1ZAZHHC89	24/07/2025	14:13:38	Buy	IT.ico	MTA	TPRO	7.31	58	423.98
1ZAZHHC8B	24/07/2025	14:13:46	Buy	IT.ico	MTA	TPRO	7.31	430	3143.3
1ZAZHHCBA	24/07/2025	14:16:33	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHCLG	24/07/2025	14:25:32	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHCXU	24/07/2025	14:34:05	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHD08	24/07/2025	14:37:48	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHD5Y	24/07/2025	14:44:58	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHDM7	24/07/2025	14:57:28	Buy	IT.ico	MTA	TPRO	7.315	249	1821.435
1ZAZHHDM9	24/07/2025	14:57:37	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHDOQ	24/07/2025	15:00:03	Buy	IT.ico	MTA	TPRO	7.305	611	4463.355
1ZAZHHDOR	24/07/2025	15:00:03	Buy	IT.ico	MTA	TPRO	7.305	389	2841.645
1ZAZHHDZ0	24/07/2025	15:08:20	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHE5I	24/07/2025	15:12:13	Buy	IT.ico	MTA	TPRO	7.33	1,000	7330
1ZAZHHE9S	24/07/2025	15:17:01	Buy	IT.ico	MTA	TPRO	7.33	1,000	7330
1ZAZHHEPN	24/07/2025	15:25:28	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHETB	24/07/2025	15:28:31	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHF0J	24/07/2025	15:33:23	Buy	IT.ico	MTA	TPRO	7.27	1,000	7270
1ZAZHHF9A	24/07/2025	15:41:23	Buy	IT.ico	MTA	TPRO	7.3	441	3219.3
1ZAZHHF9B	24/07/2025	15:41:23	Buy	IT.ico	MTA	TPRO	7.3	559	4080.7
1ZAZHHFH8	24/07/2025	15:47:31	Buy	IT.ico	MTA	TPRO	7.3	51	372.3
1ZAZHHFHF	24/07/2025	15:47:40	Buy	IT.ico	MTA	TPRO	7.31	67	489.77
1ZAZHHFHG	24/07/2025	15:47:40	Buy	IT.ico	MTA	TPRO	7.31	19	138.89
1ZAZHHFHO	24/07/2025	15:48:05	Buy	IT.ico	MTA	TPRO	7.315	495	3620.925
1ZAZHHFHP	24/07/2025	15:48:05	Buy	IT.ico	MTA	TPRO	7.315	132	965.58
1ZAZHHFKA	24/07/2025	15:49:07	Buy	IT.ico	MTA	TPRO	7.31	797	5826.07
1ZAZHHFKB	24/07/2025	15:49:07	Buy	IT.ico	MTA	TPRO	7.31	203	1483.93
1ZAZHHFOT	24/07/2025	15:53:35	Buy	IT.ico	MTA	TPRO	7.275	101	734.775
1ZAZHHFOU	24/07/2025	15:53:35	Buy	IT.ico	MTA	TPRO	7.275	800	5820
1ZAZHHFOV	24/07/2025	15:53:35	Buy	IT.ico	MTA	TPRO	7.275	12	87.3









1ZAZHHFOW	24/07/2025	15:53:35	Buy	IT.ico	MTA	TPRO	7.275	87	632.925
1ZAZHHFW8	24/07/2025	15:56:52	Buy	IT.ico	MTA	TPRO	7.275	468	3404.7
1ZAZHHG1G	24/07/2025	16:00:16	Buy	IT.ico	MTA	TPRO	7.285	1,000	7285
1ZAZHHGO7	24/07/2025	16:08:33	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHGPU	24/07/2025	16:09:54	Buy	IT.ico	MTA	TPRO	7.285	1,000	7285
1ZAZHHGUG	24/07/2025	16:13:01	Buy	IT.ico	MTA	TPRO	7.275	148	1076.7
1ZAZHHGUH	24/07/2025	16:13:01	Buy	IT.ico	MTA	TPRO	7.275	283	2058.825
1ZAZHHGUI	24/07/2025	16:13:01	Buy	IT.ico	MTA	TPRO	7.275	100	727.5
1ZAZHHH22	24/07/2025	16:16:39	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHH67	24/07/2025	16:20:02	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHH8Z	24/07/2025	16:23:54	Buy	IT.ico	MTA	TPRO	7.285	1,000	7285
1ZAZHHHMQ	24/07/2025	16:30:34	Buy	IT.ico	MTA	TPRO	7.335	158	1158.93
1ZAZHHHMR	24/07/2025	16:30:34	Buy	IT.ico	MTA	TPRO	7.335	646	4738.41
1ZAZHHHN7	24/07/2025	16:31:56	Buy	IT.ico	MTA	TPRO	7.335	73	535.455
1ZAZHHHNA	24/07/2025	16:32:13	Buy	IT.ico	MTA	TPRO	7.335	12	88.02
1ZAZHHHNK	24/07/2025	16:32:32	Buy	IT.ico	MTA	TPRO	7.335	1,000	7335
1ZAZHHHVO	24/07/2025	16:39:27	Buy	IT.ico	MTA	TPRO	7.36	200	1472
1ZAZHHHVP	24/07/2025	16:39:28	Buy	IT.ico	MTA	TPRO	7.355	1,000	7355
1ZAZHHHWL	24/07/2025	16:40:27	Buy	IT.ico	MTA	TPRO	7.345	1,000	7345
1ZAZHHI1W	24/07/2025	16:44:20	Buy	IT.ico	MTA	TPRO	7.345	1,000	7345
1ZAZHHI5V	24/07/2025	16:48:58	Buy	IT.ico	MTA	TPRO	7.35	70	514.5
1ZAZHHI5W	24/07/2025	16:48:58	Buy	IT.ico	MTA	TPRO	7.35	930	6835.5
1ZAZHHI8A	24/07/2025	16:52:58	Buy	IT.ico	MTA	TPRO	7.345	287	2108.015
1ZAZHHIAW	24/07/2025	16:54:18	Buy	IT.ico	MTA	TPRO	7.35	11	80.85
1ZAZHHIBG	24/07/2025	16:55:02	Buy	IT.ico	MTA	TPRO	7.35	824	6056.4
1ZAZHHIBH	24/07/2025	16:55:02	Buy	IT.ico	MTA	TPRO	7.35	176	1293.6
1ZAZHHIBI	24/07/2025	16:55:02	Buy	IT.ico	MTA	TPRO	7.355	200	1471
1ZAZHHIGH	24/07/2025	16:58:49	Buy	IT.ico	MTA	TPRO	7.355	74	544.27
1ZAZHHIGN	24/07/2025	16:59:13	Buy	IT.ico	MTA	TPRO	7.355	12	88.26
1ZAZHHIGO	24/07/2025	16:59:38	Buy	IT.ico	MTA	TPRO	7.355	12	88.26
1ZAZHHIH6	24/07/2025	16:59:59	Buy	IT.ico	MTA	TPRO	7.355	704	5177.92
1ZAZHHIJ6	24/07/2025	17:01:46	Buy	IT.ico	MTA	TPRO	7.375	278	2050.25
1ZAZHHIJ7	24/07/2025	17:01:46	Buy	IT.ico	MTA	TPRO	7.375	197	1452.875
1ZAZHHIJ8	24/07/2025	17:01:46	Buy	IT.ico	MTA	TPRO	7.375	400	2950
1ZAZHHIM6	24/07/2025	17:05:12	Buy	IT.ico	MTA	TPRO	7.375	53	390.875
1ZAZHHIMM	24/07/2025	17:05:37	Buy	IT.ico	MTA	TPRO	7.375	395	2913.125
1ZAZHHIMN	24/07/2025	17:05:37	Buy	IT.ico	MTA	TPRO	7.375	605	4461.875
1ZAZHHIOD	24/07/2025	17:07:12	Buy	IT.ico	MTA	TPRO	7.365	1,000	7365









1ZAZHHIRS	24/07/2025	17:11:06	Buy	IT.ico	MTA	TPRO	7.365	621	4573.665
1ZAZHHIU8	24/07/2025	17:13:45	Buy	IT.ico	MTA	TPRO	7.365	397	2923.905
1ZAZHHIYZ	24/07/2025	17:16:11	Buy	IT.ico	MTA	TPRO	7.385	1,000	7385
1ZAZHHJ2T	24/07/2025	17:19:17	Buy	IT.ico	MTA	TPRO	7.365	439	3233.235
1ZAZHHJ5D	24/07/2025	17:21:49	Buy	IT.ico	MTA	TPRO	7.36	428	3150.08
1ZAZHHJ7B	24/07/2025	17:23:21	Buy	IT.ico	MTA	TPRO	7.365	320	2356.8
1ZAZHHJ8M	24/07/2025	17:24:05	Buy	IT.ico	MTA	TPRO	7.365	1,000	7365
1ZAZHHJCD	24/07/2025	17:25:46	Buy	IT.ico	MTA	TPRO	7.365	256	1885.44
1ZAZHHMXP	25/07/2025	09:26:59	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHN3R	25/07/2025	09:31:49	Buy	IT.ico	MTA	TPRO	7.34	688	5049.92
1ZAZHHN75	25/07/2025	09:34:31	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHN76	25/07/2025	09:34:31	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHNDE	25/07/2025	09:39:57	Buy	IT.ico	MTA	TPRO	7.34	800	5872
1ZAZHHNDF	25/07/2025	09:39:57	Buy	IT.ico	MTA	TPRO	7.34	200	1468
1ZAZHHNH3	25/07/2025	09:41:55	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHNKP	25/07/2025	09:44:01	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHNSX	25/07/2025	09:51:45	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHNWU	25/07/2025	09:55:47	Buy	IT.ico	MTA	TPRO	7.345	113	829.985
1ZAZHHNWV	25/07/2025	09:55:47	Buy	IT.ico	MTA	TPRO	7.345	70	514.15
1ZAZHHNWW	25/07/2025	09:55:47	Buy	IT.ico	MTA	TPRO	7.345	77	565.565
1ZAZHHNWX	25/07/2025	09:55:47	Buy	IT.ico	MTA	TPRO	7.345	69	506.805
1ZAZHHNY8	25/07/2025	09:57:02	Buy	IT.ico	MTA	TPRO	7.335	72	528.12
1ZAZHHNY9	25/07/2025	09:57:02	Buy	IT.ico	MTA	TPRO	7.335	74	542.79
1ZAZHHNYA	25/07/2025	09:57:02	Buy	IT.ico	MTA	TPRO	7.335	72	528.12
1ZAZHHNYB	25/07/2025	09:57:02	Buy	IT.ico	MTA	TPRO	7.335	130	953.55
1ZAZHHNYC	25/07/2025	09:57:02	Buy	IT.ico	MTA	TPRO	7.325	1,000	7325
1ZAZHHO2J	25/07/2025	10:00:56	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHO76	25/07/2025	10:04:11	Buy	IT.ico	MTA	TPRO	7.29	550	4009.5
1ZAZHHO77	25/07/2025	10:04:11	Buy	IT.ico	MTA	TPRO	7.29	450	3280.5
1ZAZHHOFI	25/07/2025	10:15:21	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHOFJ	25/07/2025	10:15:31	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHOIY	25/07/2025	10:21:42	Buy	IT.ico	MTA	TPRO	7.305	800	5844
1ZAZHHOIZ	25/07/2025	10:21:42	Buy	IT.ico	MTA	TPRO	7.305	200	1461
1ZAZHHORV	25/07/2025	10:30:22	Buy	IT.ico	MTA	TPRO	7.32	1,000	7320
1ZAZHHORX	25/07/2025	10:30:24	Buy	IT.ico	MTA	TPRO	7.32	1,000	7320
1ZAZHHOWO	25/07/2025	10:33:14	Buy	IT.ico	MTA	TPRO	7.305	899	6567.195
1ZAZHHOWP	25/07/2025	10:33:14	Buy	IT.ico	MTA	TPRO	7.305	101	737.805
1ZAZHHOXF	25/07/2025	10:33:51	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295









1ZAZHHP6P	25/07/2025	10:43:29	Buy	IT.ico	MTA	TPRO	7.3	878	6409.4
1ZAZHHP6Q	25/07/2025	10:43:29	Buy	IT.ico	MTA	TPRO	7.3	122	890.6
1ZAZHHPH5	25/07/2025	10:55:35	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHPHZ	25/07/2025	10:56:56	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHPJQ	25/07/2025	11:00:05	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHPNF	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	79	577.095
1ZAZHHPNG	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	79	577.095
1ZAZHHPNH	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	75	547.875
1ZAZHHPNI	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	74	540.57
1ZAZHHPNJ	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	116	847.38
1ZAZHHPNK	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	103	752.415
1ZAZHHPNL	25/07/2025	11:05:47	Buy	IT.ico	MTA	TPRO	7.305	419	3060.795
1ZAZHHPRV	25/07/2025	11:13:08	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHPSR	25/07/2025	11:14:02	Buy	IT.ico	MTA	TPRO	7.3	245	1788.5
1ZAZHHPVM	25/07/2025	11:17:45	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHQ0Q	25/07/2025	11:25:09	Buy	IT.ico	MTA	TPRO	7.3	252	1839.6
1ZAZHHQ26	25/07/2025	11:26:45	Buy	IT.ico	MTA	TPRO	7.3	256	1868.8
1ZAZHHQ27	25/07/2025	11:26:45	Buy	IT.ico	MTA	TPRO	7.3	40	292
1ZAZHHQ28	25/07/2025	11:26:45	Buy	IT.ico	MTA	TPRO	7.3	129	941.7
1ZAZHHQ3P	25/07/2025	11:29:21	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHQ8I	25/07/2025	11:36:12	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHQMG	25/07/2025	11:53:12	Buy	IT.ico	MTA	TPRO	7.32	55	402.6
1ZAZHHQMH	25/07/2025	11:53:12	Buy	IT.ico	MTA	TPRO	7.32	137	1002.84
1ZAZHHQMI	25/07/2025	11:53:12	Buy	IT.ico	MTA	TPRO	7.32	160	1171.2
1ZAZHHQMJ	25/07/2025	11:53:12	Buy	IT.ico	MTA	TPRO	7.32	144	1054.08
1ZAZHHQMK	25/07/2025	11:53:12	Buy	IT.ico	MTA	TPRO	7.32	221	1617.72
1ZAZHHQMN	25/07/2025	11:53:21	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHQP9	25/07/2025	11:55:34	Buy	IT.ico	MTA	TPRO	7.325	136	996.2
1ZAZHHQPO	25/07/2025	11:56:19	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHQYE	25/07/2025	11:59:59	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHR6C	25/07/2025	12:04:08	Buy	IT.ico	MTA	TPRO	7.295	171	1247.445
1ZAZHHR86	25/07/2025	12:05:48	Buy	IT.ico	MTA	TPRO	7.3	358	2613.4
1ZAZHHRKI	25/07/2025	12:11:06	Buy	IT.ico	MTA	TPRO	7.3	474	3460.2
1ZAZHHRKJ	25/07/2025	12:11:06	Buy	IT.ico	MTA	TPRO	7.3	526	3839.8
1ZAZHHRVV	25/07/2025	12:20:10	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHSX3	25/07/2025	12:44:05	Buy	IT.ico	MTA	TPRO	7.345	800	5876
1ZAZHHSX4	25/07/2025	12:44:05	Buy	IT.ico	MTA	TPRO	7.345	200	1469
1ZAZHHSX5	25/07/2025	12:44:09	Buy	IT.ico	MTA	TPRO	7.345	80	587.6









4=4=11110240						7000			
1ZAZHHSX6	25/07/2025	12:44:09	Buy	IT.ico	MTA	TPRO	7.345	75	550.875
1ZAZHHSX7	25/07/2025	12:44:09	Buy	IT.ico	MTA	TPRO	7.345	79	580.255
1ZAZHHT06	25/07/2025	12:45:57	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHT6Q	25/07/2025	12:54:16	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHTAV	25/07/2025	13:01:18	Buy	IT.ico	MTA	TPRO	7.33	971	7117.43
1ZAZHHTM3	25/07/2025	13:17:44	Buy	IT.ico	MTA	TPRO	7.33	200	1466
1ZAZHHTM4	25/07/2025	13:17:44	Buy	IT.ico	MTA	TPRO	7.33	239	1751.87
1ZAZHHTME	25/07/2025	13:18:17	Buy	IT.ico	MTA	TPRO	7.325	1,000	7325
1ZAZHHTRV	25/07/2025	13:28:04	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHU6R	25/07/2025	13:44:41	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHUD3	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	38	278.16
1ZAZHHUD4	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	84	614.88
1ZAZHHUD5	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	89	651.48
1ZAZHHUD6	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	119	871.08
1ZAZHHUD7	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	126	922.32
1ZAZHHUD8	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	124	907.68
1ZAZHHUD9	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	85	622.2
1ZAZHHUDA	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	87	636.84
1ZAZHHUDB	25/07/2025	13:58:45	Buy	IT.ico	MTA	TPRO	7.32	85	622.2
1ZAZHHUEJ	25/07/2025	13:58:47	Buy	IT.ico	MTA	TPRO	7.315	1,000	7315
1ZAZHHULL	25/07/2025	14:07:02	Buy	IT.ico	MTA	TPRO	7.35	380	2793
1ZAZHHULM	25/07/2025	14:07:02	Buy	IT.ico	MTA	TPRO	7.35	620	4557
1ZAZHHURE	25/07/2025	14:15:07	Buy	IT.ico	MTA	TPRO	7.36	22	161.92
1ZAZHHURF	25/07/2025	14:15:07	Buy	IT.ico	MTA	TPRO	7.36	978	7198.08
1ZAZHHURO	25/07/2025	14:15:30	Buy	IT.ico	MTA	TPRO	7.36	1,000	7360
1ZAZHHV21	25/07/2025	14:30:35	Buy	IT.ico	MTA	TPRO	7.365	800	5892
1ZAZHHV22	25/07/2025	14:30:35	Buy	IT.ico	MTA	TPRO	7.365	200	1473
1ZAZHHV7E	25/07/2025	14:37:23	Buy	IT.ico	MTA	TPRO	7.36	1,000	7360
1ZAZHHV8R	25/07/2025	14:40:34	Buy	IT.ico	MTA	TPRO	7.355	437	3214.135
1ZAZHHV8S	25/07/2025	14:40:34	Buy	IT.ico	MTA	TPRO	7.355	563	4140.865
1ZAZHHVGI	25/07/2025	14:50:04	Buy	IT.ico	MTA	TPRO	7.345	651	4781.595
1ZAZHHVGJ	25/07/2025	14:50:04	Buy	IT.ico	MTA	TPRO	7.345	349	2563.405
1ZAZHHVL0	25/07/2025	14:54:44	Buy	IT.ico	MTA	TPRO	7.34	95	697.3
1ZAZHHVMM	25/07/2025	14:56:38	Buy	IT.ico	MTA	TPRO	7.34	166	1218.44
1ZAZHHVZL	25/07/2025	15:04:45	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHVZN	25/07/2025	15:04:45	Buy	IT.ico	MTA	TPRO	7.34	1,000	7340
1ZAZHHW9H	25/07/2025	15:12:48	Buy	IT.ico	MTA	TPRO	7.335	562	4122.27
1ZAZHHWBB	25/07/2025	15:15:01	Buy	IT.ico	MTA	TPRO	7.335	437	3205.395
			.,						









1ZAZHHWBC	25/07/2025	15:15:01	Buy	IT.ico	MTA	TPRO	7.335	563	4129.605
1ZAZHHWCU	25/07/2025	15:18:16	Buy	IT.ico	MTA	TPRO	7.33	1,000	7330
1ZAZHHWHZ	25/07/2025	15:22:44	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHWS2	25/07/2025	15:29:45	Buy	IT.ico	MTA	TPRO	7.265	545	3959.425
1ZAZHHWXD	25/07/2025	15:33:27	Buy	IT.ico	MTA	TPRO	7.275	1,000	7275
1ZAZHHWYC	25/07/2025	15:34:11	Buy	IT.ico	MTA	TPRO	7.26	1,000	7260
1ZAZHHX7D	25/07/2025	15:40:48	Buy	IT.ico	MTA	TPRO	7.265	800	5812
1ZAZHHX7E	25/07/2025	15:40:48	Buy	IT.ico	MTA	TPRO	7.265	67	486.755
1ZAZHHX7F	25/07/2025	15:40:48	Buy	IT.ico	MTA	TPRO	7.265	133	966.245
1ZAZHHXDT	25/07/2025	15:45:45	Buy	IT.ico	MTA	TPRO	7.265	1,000	7265
1ZAZHHXID	25/07/2025	15:49:59	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHXMV	25/07/2025	15:54:11	Buy	IT.ico	MTA	TPRO	7.28	1,000	7280
1ZAZHHXWQ	25/07/2025	16:01:46	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHY0Q	25/07/2025	16:05:28	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHY4W	25/07/2025	16:09:05	Buy	IT.ico	MTA	TPRO	7.285	1,000	7285
1ZAZHHYB5	25/07/2025	16:11:44	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHYGG	25/07/2025	16:16:43	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHYOC	25/07/2025	16:24:55	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHYYR	25/07/2025	16:31:56	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHYYS	25/07/2025	16:31:57	Buy	IT.ico	MTA	TPRO	7.31	1,000	7310
1ZAZHHYZQ	25/07/2025	16:32:03	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHZB4	25/07/2025	16:40:09	Buy	IT.ico	MTA	TPRO	7.305	1,000	7305
1ZAZHHZC6	25/07/2025	16:41:27	Buy	IT.ico	MTA	TPRO	7.3	134	978.2
1ZAZHHZC7	25/07/2025	16:41:27	Buy	IT.ico	MTA	TPRO	7.3	866	6321.8
1ZAZHHZIO	25/07/2025	16:47:28	Buy	IT.ico	MTA	TPRO	7.3	1,000	7300
1ZAZHHZKH	25/07/2025	16:49:31	Buy	IT.ico	MTA	TPRO	7.295	535	3902.825
1ZAZHHZKI	25/07/2025	16:49:31	Buy	IT.ico	MTA	TPRO	7.295	465	3392.175
1ZAZHHZNH	25/07/2025	16:53:04	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHHZTP	25/07/2025	16:59:17	Buy	IT.ico	MTA	TPRO	7.29	214	1560.06
1ZAZHHZTQ	25/07/2025	16:59:17	Buy	IT.ico	MTA	TPRO	7.29	200	1458
1ZAZHHZX0	25/07/2025	17:02:18	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHHZX5	25/07/2025	17:02:18	Buy	IT.ico	MTA	TPRO	7.29	1,000	7290
1ZAZHI03Y	25/07/2025	17:08:47	Buy	IT.ico	MTA	TPRO	7.285	1,000	7285
1ZAZHI0BF	25/07/2025	17:12:44	Buy	IT.ico	MTA	TPRO	7.285	67	488.095
1ZAZHI0C8	25/07/2025	17:12:59	Buy	IT.ico	MTA	TPRO	7.285	700	5099.5
1ZAZHI0HT	25/07/2025	17:15:54	Buy	IT.ico	MTA	TPRO	7.295	1,000	7295
1ZAZHI0HX	25/07/2025	17:15:55	Buy	IT.ico	MTA	TPRO	7.295	200	1459
1ZAZHI0HY	25/07/2025	17:15:55	Buy	IT.ico	MTA	TPRO	7.295	800	5836









1ZAZHI0RU	25/07/2025	17:21:37	Buy	IT.ico	MTA	TPRO	7.285	404	2943.14
1ZAZHI0RV	25/07/2025	17:21:37	Buy	IT.ico	MTA	TPRO	7.285	596	4341.86
1ZAZHI0VF	25/07/2025	17:23:44	Buy	IT.ico	MTA	TPRO	7.275	356	2589.9

Fine Comunicato n.20250-52-2025

Numero di Pagine: 16